MCOs on Literary Terms

. What is a monologue?

(A) A conversation between two characters

(B) A long speech by one character in a play or story

(C) A type of poem with five lines

(D) A short, humorous story

Answer: (B) A long speech by one character in a play or story
. A prologue usually appears at the:

(A) Middle of a story

(B) End of a novel

(C) Beginning of a literary work

(D) None of the above

Answer: (C) Beginning of a literary work

. Which of the following best defines a ballad?

(A) A long, serious poem about war

(B) A short, witty five-line poem

(C) A narrative poem that tells a story, often in song form

(D) A type of novel

Answer: (C) A narrative poem that tells a story, often in song form

. Alimerick is known for its:

(A) Serious tone and long verses

(B) Five-line structure and humorous nature

(C) Rhyming pattern of ABBA

(D) Free verse style

Answer: (B) Five-line structure and humorous nature

. Which of the following describes a sonnet?

(A) A poem with fourteen lines and a specific rhyme scheme
(B) A three-line Japanese poem

(C) A humorous five-line poem

(D) A long, narrative poem about heroes

Answer: (A) A poem with fourteen lines and a specific rhyme scheme
Fiction refers to:

(A) Stories based on real events

(B) Literature that is purely imaginary

(C) Books about historical figures

(D) Scientific reports

Answer: (B) Literature that is purely imaginary

. Which of the following is an example of non-fiction?
(A) A fantasy novel

(B) A science fiction story

(C) A biography

(D) A mystery novel

Answer: (C) A biography




. A protagonist is:

(A) The main character in a story

(B) The villain of a story

(C) A minor character

(D) A background setting

Answer: (A) The main character in a story

. The antagonist in a story is:

(A) The hero who overcomes obstacles

(B) A background character

(C) The character who opposes the protagonist

(D) The narrator of the story

Answer: (C) The character who opposes the protagonist
. Free verse poetry is unique because:

(A) It always follows a strict rhyme scheme

(B) It has no set meter or rhyme

(C) It must be exactly 14 lines long

(D) It follows the structure of a ballad

Answer: (B) It has no set meter or rhyme

. Which of the following is an example of a paradox?
(A) "The sun sets in the west."”

(B) "Less is more."

(C) "The cat sat on the mat."

(D) "The dog barked loudly."

Answer: (B) "Less is more."

. A biography is a:

(A) Book about a made-up character

(B) Story about an author’s life written by themselves
(C) Story about someone’s life written by another person
(D) Fictional poem

Answer: (C) Story about someone’s life written by another person
. An autobiography is different from a biography because:
(A) It is written in first-person by the subject

(B) It is always fictional

(C) It focuses only on childhood

(D) It is written in poetic form

Answer: (A) It is written in first-person by the subject

. Which of these is an example of fiction?

(A) A fantasy novel

(B) A history textbook

(C) A travel guide

(D) A research paper

Answer: (A) A fantasy novel

. The term "'limerick™ is associated with which type of writing?
(A) Serious poetry

(B) Mystery stories

(C) Humorous five-line poems




(D) Non-fiction essays

Answer: (C) Humorous five-line poems

. What does the prologue of a story do?

(A) Summarizes the entire book

(B) Introduces important background information

(C) Concludes the novel

(D) Serves as the climax of the story

Answer: (B) Introduces important background information
. A monologue is typically delivered by:

(A) A group of people

(B) One person, often expressing their thoughts aloud

(C) The narrator of a novel

(D) An author writing in third-person

Answer: (B) One person, often expressing their thoughts aloud
. Which poem is most likely to tell a long, dramatic story?
(A) Limerick

(B) Sonnet

(C) Ballad

(D) Haiku

Answer: (C) Ballad

. What is a protagonist’s role in a story?

(A) To serve as the main hero or central character

(B) To be a minor background figure

(C) To narrate the story from an outsider’s perspective

(D) To always be the villain

Answer: (A) To serve as the main hero or central character
. Which literary device involves a statement that seems contradictory but reveals a
deeper truth?

(A) Free verse

(B) Paradox

(C) Ballad

(D) Sonnet

Answer: (B) Paradox

. Which of the following is an example of a paradox?

(A) "The quick brown fox jumps over the lazy dog."

(B) "The more you know, the more you realize you don’t know."
(C) "Roses are red, violets are blue."”

(D) "The train arrived exactly on time."

Answer: (B) "The more you know, the more you realize you don’t know."
. A sonnet typically has how many lines?

(A)5

(B) 10

(C) 14

(D) 20

Answer: (C) 14




23. Which is a key feature of free verse poetry?
(A) It follows a strict pattern of rhyme and meter
(B) It is always written in iambic pentameter
(C) It lacks a consistent structure or rhyme scheme
(D) It is always humorous
Answer: (C) It lacks a consistent structure or rhyme scheme
24. A story about a real person’s life, written by someone else, is called a:
(A) Fiction
(B) Biography
(C) Autobiography
(D) Ballad
Answer: (B) Biography
25. Which of the following is NOT a type of poetry?
(A) Sonnet
(B) Ballad
(C) Limerick
(D) Biography
Answer: (D) Biography

SUBJECT VERB AGREEMENT

1. Either my mother or my sisters ___ going to the party.

(A)is

(B) are

(C) was

(D) has

< Correct Answer: (B) are

2. The bouquet of roses ____ on the table.

(A) is

(B) are

(C) were

(D) have

7 Correct Answer: (A) is

3. Each of the students ___ a different topic for the project.

(A) choose
(B) chooses




(C) have chosen
(D) choosing
«/ Correct Answer: (B) chooses

4. Neither the teacher nor the students ___ late for class.

(A) was

(B) are

(C)is

(D) has been

«/ Correct Answer: (B) are

5. The news ___ surprising to everyone.

(A) were

(B) are

(C) is

(D) have been

</ Correct Answer: (C) is

6. Mathematics __ my favorite subject.

(A) is

(B) are

(C) have been

(D) were

7 Correct Answer: (A) is

7. The jury __ divided in their opinion.

(A)is

(B) are

(C) has

(D) was

<« Correct Answer: (B) are

8. One of my best friends ____living in Canada.

(A)is

(B) are

(C) have been

(D) were

7 Correct Answer: (A) is

9. The police ___investigating the case.




(A) is

(B) are

(C) was

(D) has been

«/ Correct Answer: (B) are

10. A number of students ___ absent today.

(A) is

(B) are

(C) was

(D) has been

7 Correct Answer: (B) are

MCOQs on Types of Sentences Based on Meaning

1. Identify the type of sentence:

"What a beautiful sunset it is!"
(A) Declarative

(B) Interrogative

(C) Exclamatory

(D) Imperative

<7 (C) Exclamatory

2. Which of the following sentences is an example of an optative sentence?

(A) "Shut the door!"

(B) "What a fantastic movie!"

(C) "May you live a long and happy life."
(D) "Why did you leave early?"

¢ (C) May you live a long and happy life.

3. Choose the correct classification for the sentence:

"She enjoys reading books."
(A) Interrogative

(B) Declarative

(C) Imperative




(D) Exclamatory
</ (B) Declarative

4. Identify the type of sentence:

"Did she complete her assignment on time?"
(A) Exclamatory

(B) Imperative

(C) Interrogative

(D) Declarative

<7 (C) Interrogative

5. Which sentence is an example of an imperative sentence?

(A) "Can you explain this topic?"
(B) "Please, help me with this task."
(C) "She arrived late yesterday."
(D) "Oh no! I missed the bus."”

</ (B) Please, help me with this task.

6. Which of the following is an assertive sentence?

(A) "He was not feeling well."
(B) "What a great performance!"
(C) "Open the window."

(D) "May God bless you."

<7 (A) He was not feeling well.

7. Identify the sentence type:

"The students did not submit their homework."
(A) Negative

(B) Interrogative

(C) Imperative

(D) Optative

<7 (A) Negative




8. Which sentence correctly represents an exclamatory sentence?

(A) "The exam was really tough."
(B) "Wow! That’s an amazing idea!"
(C) "Is he coming to the meeting?"
(D) "She will be arriving soon."

</ (B) Wow! That’s an amazing idea!

9. Choose the correct type of the following sentence:

"Stop making so much noise!"
(A) Assertive

(B) Imperative

(C) Exclamatory

(D) Interrogative

</ (B) Imperative

10. Identify the sentence type:

"How many books have you read this month?"
(A) Declarative

(B) Interrogative

(C) Optative

(D) Exclamatory

<7 (B) Interrogative

MCQOs on Sentence Types and Structure

1. Identify the type of sentence:

"Although it was raining, we continued playing because we were enjoying the match."
(A) Simple

(B) Compound

(C) Complex

(D) Compound-Complex

<7 (C) Complex




2. Which of the following is an example of a simple sentence?

(A) "The sun set, and the stars appeared."

(B) "She ran quickly, but she still missed the bus."
(C) "They slept early."

(D) "Since she was tired, she went to bed early."”
7 (C) They slept early.

3. Choose the correct classification for the sentence:

"l wanted to go for a walk, but it was too cold."”
(A) Simple

(B) Compound

(C) Complex

(D) Compound-Complex

< (B) Compound

4. Which of the following is a complex sentence?

(A) "We went to the park, and we had a picnic."

(B) "Because she was late, she missed the first part of the lecture."”
(C) "I like coffee, but he prefers tea."

(D) "She sings beautifully."

<« (B) Because she was late, she missed the first part of the lecture.

5. Identify the type of sentence:

"I love reading, but my brother prefers watching movies, so we rarely agree on what to do."
(A) Simple

(B) Compound

(C) Complex

(D) Compound-Complex

</ (D) Compound-Complex

MCQs on Subject and Predicate




1. Identify the subject in the following sentence:

"The tall, experienced doctor examined the patient carefully.”
(A) The tall, experienced doctor

(B) examined the patient carefully

(C) carefully

(D) the patient

<7 (A) The tall, experienced doctor

2. Which part of the following sentence is the predicate?

"The children in the park are playing happily."
(A) The children

(B) in the park

(C) are playing happily

(D) the park

7 (C) are playing happily

3. Choose the sentence where the subject is compound:

(A) "Sarah and Tom went to the zoo."
(B) "The teacher explained the lesson."
(C) "The baby cried loudly."

(D) "The old man sat on the bench."

<7 (A) Sarah and Tom went to the zoo.

4. Identify the complete predicate in the sentence:

"My best friend from school won the first prize in the competition."
(A) My best friend

(B) won the first prize in the competition

(C) from school

(D) the first prize

<7 (B) won the first prize in the competition

MCOs on Different Types of Verbs




1. Identify the linking verb in the sentence:

"She seems happy after receiving the good news."
(A) seems

(B) receiving

(C) after

(D) happy

7 (A) seems

2. Which of the following is a modal verb?

(A) runs
(B) can
(C) writing
(D) has

< (B) can

3. Choose the sentence that contains a finite verb:

(A) "To swim in the ocean is my dream."
(B) "The boy plays football every evening."
(C) "Running fast is his strength.”

(D) "She wanted to go to the park."

<« (B) The boy plays football every evening.

4. Which sentence contains an infinitive verb?

(A) "She enjoys singing."

(B) "I want to visit Paris next summer."
(C) "He writes poems beautifully."

(D) "The dog barked loudly."

<7 (B) | want to visit Paris next summer.

5. Identify the transitive verb in the sentence:

""She wrote a beautiful poem."
(A) she

(B) wrote

(C) beautiful




(D) poem
</ (B) wrote

6. Choose the sentence with an intransitive verb:

(A) "He kicked the ball."

(B) "She runs every morning."
(C) "They bought a new car."
(D) "She found her lost keys."

< (B) She runs every morning.

7. Which of the following verbs is regular?

(A) jump
(B) go
(C) take
(D) break

7 (A) jJump

8. Identify the irregular verb in the following options:

(A) walk
(B) play
(C) write
(D) cook
<7 (C) write

9. Which of the following is NOT a linking verb?

(A) appear
(B) seem
(C) run

(D) become

< (C) run




10. Which sentence correctly uses a modal verb?

(A) "He can solve this puzzle easily."
(B) "She is writing a letter."

(C) "They enjoy playing football."

(D) "I baked a cake yesterday."

< (A) He can solve this puzzle easily.

11. Which sentence contains an infinitive phrase?

(A) "He wants to travel the world."
(B) "She walks to school every day."
(C) "They played soccer yesterday."
(D) "The cake was delicious."

<7 (A) He wants to travel the world.

12. Identify the finite verb in the sentence:

"The children were playing outside."
(A) children

(B) playing

(C) outside

(D) were

</ (D) were

13. Choose the correct transitive verb:

(A) "She sang beautifully."

(B) "They bought a new house."
(C) "He runs fast.”

(D) "The baby sleeps peacefully."

</ (B) They bought a new house.

14. Which sentence contains an intransitive verb?

(A) "She ate an apple."
(B) "He drove a car."”
(C) "They slept late."




(D) "I wrote a letter."
7 (C) They slept late.

15. Identify the regular verb in the list below:

(A) catch
(B) cook

(C) go
(D) break

</ (B) cook

16. Which of the following is an irregular verb?

(A) talk

(B) laugh
(C) speak
(D) jump

7 (C) speak

17. Choose the correct modal verb:

(A) "She must finish her homework before dinner."
(B) "He eats vegetables every day."”

(C) "They will go to the park yesterday."

(D) "She enjoys swimming in the lake."

7 (A) She must finish her homework before dinner.

18. Identify the linking verb in the sentence:

"The cake smells delicious."
(A) smells

(B) cake

(C) delicious

(D) The

7 (A) smells




19. Which sentence contains a finite verb?

(A) "To learn is important."

(B) "She studies hard for exams."
(C) "Running is his hobby."

(D) "I want to swim."

<« (B) She studies hard for exams.

20. Choose the sentence with an infinitive verb:

(A) "She likes to dance at parties.”
(B) "They are running in the park."
(C) "He drove to work."

(D) "She finished her book."

7 (A) She likes to dance at parties.

MCOQOs on Types of Pronouns

1. Identify the personal pronoun in the sentence:

""She loves to read novels."
(A) She

(B) loves

(C) read

(D) novels

<7 (A) She

2. Choose the sentence that contains a reflexive pronoun:

(A) "He completed the project on time."
(B) "She made the cake herself."

(C) "We are going to the park."

(D) "They watched a movie together."

</ (B) She made the cake herself.

3. Which of the following is a relative pronoun?

(A) they
(B) who
(C) me

(D) she

7 (B) who




4. Identify the demonstrative pronoun in the sentence:

"This is my favorite book."
(A) favorite

(B) my

(C) This

(D) book

¢/ (C) This

5. Which of the following is an example of a reciprocal pronoun?

(A) himself

(B) each other
(C) whom

(D) that

</ (B) each other

6. Choose the sentence that contains a distributive pronoun:

(A) "Each of the students received a certificate."
(B) "She enjoys playing the piano."

(C) "He is reading a book."

(D) "They are going to the beach.”

<« (A) Each of the students received a certificate.

7. Which sentence correctly uses a personal pronoun?

(A) "This is the place | was talking about."

(B) "He went to the store to buy some groceries."
(C) "Who will be attending the meeting?"

(D) "Each of them was given a chance to speak."

< (B) He went to the store to buy some groceries.

8. Identify the reflexive pronoun in the sentence:

"I hurt myself while cooking."
(A) I




(B) hurt

(C) myself
(D) cooking
7 (C) myself

9. Which of the following contains a relative pronoun?

(A) "He is my best friend."

(B) "The book that | borrowed was interesting."

(©) "1 will see you tomorrow."

(D) "She is writing an email."

< (B) The book that | borrowed was interesting.

10. Identify the demonstrative pronoun in the sentence:

"Those are the shoes | wanted."
(A) are

(B) the

(C) Those

(D) wanted

7 (C) Those

11. Which sentence contains a reciprocal pronoun?

(A) "They love each other deeply."
(B) "He enjoyed the party last night."
(C) "She gave me a gift."

(D) "We were waiting for the train."
< (A) They love each other deeply.

12. Identify the distributive pronoun in the sentence:

"Neither of the answers was correct."
(A) of

(B) was

(C) answers

(D) Neither

</ (D) Neither




13. Choose the sentence with a personal pronoun:

(A) "My teacher is very kind."

(B) "They are planning a surprise party."
(C) "This is my favorite dress."

(D) "Each student received a book."

</ (B) They are planning a surprise party.

14. Which of the following sentences contains a reflexive pronoun?

(A) "He spoke to himself in the mirror."
(B) "She is my best friend."

(C) "This is a very interesting story."

(D) "That is my car."

< (A) He spoke to himself in the mirror.

15. Identify the relative pronoun in the sentence:

"The man who won the race is my brother."
(A) The

(B) who

(C) won

(D) race

</ (B) who

16. Which of the following is a demonstrative pronoun?

(A) he

(B) those
(C) herself
(D) which
<7 (B) those

17. Choose the sentence with a reciprocal pronoun:

(A) "The two brothers helped each other with their homework."
(B) "I went to the market yesterday."
(C) "She completed her assignment on time."




(D) "This is my new dress."
</ (A) The two brothers helped each other with their homework.

18. Identify the distributive pronoun in the sentence:

"Either of the options is acceptable."
(A) options

(B) is

(C) Either

(D) acceptable

</ (C) Either

19. Which of the following sentences contains a relative pronoun?

(A) "This is the place where we met last time."
(B) "He will arrive tomorrow morning."

(C) "She is studying for her exams."

(D) "They traveled to Paris last year."

< (A) This is the place where we met last time.

20. Ildentify the demonstrative pronoun in the sentence:

"That is the best idea I 've ever heard."
(A) idea

(B) That

(C) best

(D) heard

<« (B) That

USAGE OF NOUNS :

1. Which of the following sentences contains an abstract noun?
a) The aroma of the food filled the kitchen.
b) His honesty was never questioned.
c) The cat jJumped on the table.
d) The glass shattered into pieces.
Answer: b) His honesty was never questioned.
Identify the possessive noun in the sentence:
The children's toys were scattered all over the floor.
a) children




b) children's
c) toys
d) floor
Answer: b) children's
. Which of the following is not an example of a material noun?
a) Silver
b) Intelligence
c¢) Cotton
d) Marble
Answer: b) Intelligence
. Choose the sentence where the possessive noun is used correctly.
a) The dogs' collar was red and blue.
b) The dog's bone was buried in the yard.
c) The dogs bone was missing.
d) The doges' were barking loudly.
Answer: b) The dog's bone was buried in the yard.
. Which of the following contains both a concrete noun and an abstract noun?
a) The strength of the bridge amazed everyone.
b) The artist painted a beautiful sunset.
c) His patience helped him succeed.
d) The iron rod was bent out of shape.
Answer: a) The strength of the bridge amazed everyone.
Identify the abstract noun in the sentence:
Her bravery during the fire was commendable.
a) bravery
b) fire
c) commendable
d) her
Answer: a) bravery
In which sentence is the material noun used incorrectly?
a) The chair is made of woods.
b) This necklace is made of gold.
c) The table is crafted from teakwood.
d) We need bricks to build the house.
Answer: a) The chair is made of woods.
. Which of the following sentences contains both a possessive noun and a material noun?
a) The baker’s cake was decorated with silver foil.
b) The athlete’s courage inspired many.
c) The cat’s tail was fluffy.
d) The walls of the house were painted white.
Answer: a) The baker’s cake was decorated with silver foil.
Identify the concrete noun in the sentence:
The fragrance of the roses filled the air.
a) fragrance
b) roses
c) filled




d) air
Answer: b) roses
. Which sentence correctly differentiates between abstract and concrete nouns?
a) Wisdom can be seen in an old book.
b) Happiness is a golden ring.
c) His determination led him to the trophy.
d) A chair is an example of an abstract noun.
Answer: c) His determination led him to the trophy.

USAGE OF TRANSITIONAL DEVICES

. Which of the following transitional devices is not commonly used to show contrast?
a) Nevertheless

b) Conversely

c) Subsequently

d) On the other hand

Answer: ¢) Subsequently

Identify the transitional device used to indicate cause and effect in the sentence:
She practiced every day; therefore, she won the championship.
a) therefore

b) every day

c) she won

d) championship

Answer: a) therefore

. Which sentence uses a time-based transitional device correctly?
a) She was running late, in contrast, she arrived on time.

b) He finished his meal. For instance, he washed his hands.

c) First, you must preheat the oven before baking.

d) The rain was heavy. In other words, the streets were flooded.
Answer: c) First, you must preheat the oven before baking.

. Choose the most appropriate transition for the sentence:

_She was exhausted; , she continued to work.

a) in contrast

b) despite this

c) as a result

d) for example

Answer: b) despite this

. Which of the following best connects two similar ideas?

a) In contrast

b) On the contrary

c) Similarly

d) Nonetheless

Answer: c) Similarly

Identify the transitional device that best fits the sentence:

_He forgot to set an alarm. , he missed his morning meeting.
a) Likewise




b) Consequently

¢) However

d) Moreover

Answer: b) Consequently

. Which type of transition is used in the following sentence?

"For instance, many successful entrepreneurs failed multiple times before achieving
success."

a) Contrast

b) Cause and effect

c) Example/lllustration

d) Sequence

Answer: c) Example/lllustration

. Choose the best transition for adding an idea:

_"The economy is recovering. , unemployment rates are decreasing."
a) In contrast

b) Moreover

c) Consequently

d) However

Answer: b) Moreover

. Which transition does not indicate a conclusion?

10.

a) To sum up
b) Hence
c) Furthermore

d) In conclusion
Answer: c¢) Furthermore
Identify the transitional device that best emphasizes an idea:

_"This is, , the most crucial point of the discussion.
a) for example

b) in fact

c) therefore

d) similarly

Answer: b) in fact

. What type of transition is used in the following sentence?

"She didn't study for the exam; nevertheless, she passed.”
a) Addition

b) Contrast/Concession

c) Example

d) Time-based

Answer: b) Contrast/Concession

. Identify the transition that indicates a sequence of events:

a) Nevertheless

b) Subsequently

¢) Thus

d) On the contrary
Answer: b) Subsequently




13. Choose the most appropriate transition for drawing a conclusion:

_"The evidence is clear. , the defendant must be found guilty."
a) However
b) As a result
¢) On the other hand
d) Similarly
Answer: b) As a result

. Which transitional device is not commonly used for summarizing ideas?
a) Finally
b) In summary
c) To illustrate
d) In conclusion
Answer: ¢) To illustrate

. Which sentence uses a misplaced transitional device?
a) The store was closed; however, we found another one nearby.
b) The sun was shining. For instance, we decided to go to the beach.
c) He was very tired. Nevertheless, he finished the marathon.
d) She is intelligent. In fact, she graduated at the top of her class.
Answer: b) The sun was shining. For instance, we decided to go to the beach.

MCQOs on Coordinate, Correlative, and Subordinate Conjunctions

. Which of the following is not a coordinate conjunction?
a) Yet
b) Nor
c) While
d) But
Answer: c) While
Identify the correlative conjunction in the sentence:
"Neither the students nor the teachers agreed with the new policy."
a) Neither...nor
b) Agreed
c) The
d) With
Answer: a) Neither...nor
. Which sentence correctly uses a subordinate conjunction?
a) He was tired, but he continued working.
b) She left early because she had a meeting.
c¢) Either you apologize or face the consequences.
d) She loves both dancing and singing.
Answer: b) She left early because she had a meeting.
. Which coordinate conjunction correctly completes the sentence?
"The guests had arrived, the food was still being prepared.”

a) yet




b) unless

c) as long as

d) neither

Answer: a) yet

Identify the subordinate conjunction in the sentence:
"Although she studied hard, she did not pass the exam."

a) studied

b) Although

c) did not

d) pass

Answer: b) Although

. Choose the correct correlative conjunction for the sentence:
"He is talented hardworking."

a) either...or

b) as...as

¢) both...and

d) not only...but also

Answer: ¢) both...and

. Which of the following does not contain a correlative conjunction?
a) Either you win or you lose.

b) 1 will attend the meeting after I finish my work.

c) Both the manager and the employees were satisfied.

d) Not only did she finish early, but she also helped others.
Answer: b) | will attend the meeting after | finish my work.
Identify the type of conjunction used in the sentence:

"She must finish her work before she can go out.”

a) Coordinate

b) Correlative

c) Subordinate

d) None of the above

Answer: ¢) Subordinate

. Which of the following sentences contains a coordinate conjunction?
a) | will go to the party if I finish my assignment.

b) He is not only intelligent but also hardworking.

c) The weather was bad, yet we decided to go hiking.

d) Although he was tired, he continued to work.

Answer: ¢) The weather was bad, yet we decided to go hiking.
. Identify the best correlative conjunction to complete the sentence:
"She is intelligent kind."

a) so...that

b) as...as

c¢) not only...but also

d) neither...nor

Answer: c) not only...but also

. Which of the following is not a subordinate conjunction?
a) Unless




b) Since
c) Whereas
d) Nor
Answer: d) Nor
. Choose the correct subordinate conjunction to complete the sentence:
"He was late he missed the bus."
a) because
b) but
C) so
d) yet
Answer: a) because
. Identify the coordinate conjunction in the sentence:
"l wanted to go to the concert, but | had an important meeting."
a) wanted
b) to
c) but
d) had
Answer: c) but
. Which sentence contains a misuse of a correlative conjunction?
a) She was both excited and nervous for her interview.
b) Either we go to the beach, or we stay home.
c) Not only she is smart, but also she is kind.
d) Neither the teacher nor the students understood the question.
Answer: c) Not only she is smart, but also she is kind. (Correct: Not only is she smart,
but also she is kind.)
. Which sentence correctly uses a correlative conjunction?
a) He was either going to the gym, and staying at home.
b) You can choose neither the red one nor the blue one.
c) She studied, so she passed the test.
d) If you study hard, you will succeed.
Answer: b) You can choose neither the red one nor the blue one.

USAGE OF ADJECTIVE AND ADVERB

MCQs on Adverbs, Adjectives, and Their Types

Adverbs and Their Types

1. Identify the adverb of manner in the sentence:
"She completed the task effortlessly."
a) completed
b) task




c) effortlessly

d) she

Answer: c) effortlessly

. Which of the following is not an adverb?

a) Carefully

b) Beautifully

c) Happiness

d) Wisely

Answer: ¢) Happiness

. Choose the correct sentence using an adverb of degree:
a) She runs quickly in the morning.

b) He is extremely talented in mathematics.

c) They left yesterday for the trip.

d) The child is playing outside.

Answer: b) He is extremely talented in mathematics.
Identify the adverb of frequency in the sentence:
"He rarely eats fast food."

a) rarely

b) eats

c) fast

d) food

Answer: a) rarely

. Which sentence correctly uses an adverb of place?
a) We went upstairs to check the noise.

b) He writes neatly in his notebook.

c) She always forgets her keys.

d) The dog barks loudly at night.

Answer: a) We went upstairs to check the noise.
Identify the adverb of time in the sentence:

"They will arrive soon."

a) They

b) will

c) arrive

d) soon

Answer: d) soon

. Which of the following sentences incorrectly uses an adverb?
a) She sings very beautifully.

b) He was driving too fastly.

c¢) They always arrive on time.

d) She rarely makes mistakes.

Answer: b) He was driving too fastly. (Correct: "too fast™)
Identify the adverb of reason in the sentence:
"Since she was unwell, she stayed at home."

a) Since

b) she

c) unwell




d) at home
Answer: a) Since
. Choose the sentence where an adverb modifies an adjective:
a) He drives extremely fast.
b) She sings melodiously.
c) We visited the park yesterday.
d) The teacher spoke loudly.
Answer: a) He drives extremely fast.
. Which adverb is used incorrectly in the sentence?
"She looked very beautifully in her new dress."
a) looked
b) very
c) beautifully
d) in
Answer: c¢) beautifully (Correct: "She looked very beautiful.")

Adjectives and Their Types

11. Identify the descriptive adjective in the sentence:

"The gigantic elephant walked slowly."
a) gigantic
b) walked
c) slowly
d) elephant
Answer: a) gigantic

. Which sentence contains a proper adjective?
a) The Italian cuisine is delicious.
b) He is a good player.
c) They bought a wooden chair.
d) She wore a silk dress.
Answer: a) The Italian cuisine is delicious.

. Identify the demonstrative adjective in the sentence:
"That book belongs to me."
a) That
b) book
c) belongs
d) me
Answer: a) That

. Choose the correct sentence with a possessive adjective:
a) This is mine bag.
b) Their house is very big.
c¢) The cat is yours.
d) I love this of you.
Answer: b) Their house is very big.

15. Identify the interrogative adjective in the sentence:

"Which dress will you wear?"




a) Which
b) dress
c) will
d) wear
Answer: a) Which
. Which of the following sentences contains a numeral adjective?
a) The first chapter was interesting.
b) That boy is my cousin.
c) This room needs cleaning.
d) The leather jacket is expensive.
Answer: a) The first chapter was interesting.
. Identify the adjective of quantity in the sentence:
"She gave me some advice."
a) she
b) gave
C) some
d) advice
Answer: c) some
. Choose the sentence where an adjective is used incorrectly:
a) She is more stronger than her brother.
b) This is the best pizza | have ever had.
c) The beautiful sunset made the evening special.
d) I bought a dozen eggs.
Answer: a) She is more stronger than her brother. (Correct: "She is stronger than her
brother.")
. Identify the adjective modifying a pronoun:
"This is a difficult question."
a) This
b) is
c)a
d) difficult
Answer: d) difficult
. Which sentence uses a comparative adjective?
a) This is the tallest building in the city.
b) She is more talented than her sister.
c) | have three red apples.
d) The dress is expensive.
Answer: b) She is more talented than her sister.

Correct Usage of Adverbs & Adjectives

21. Choose the correct option:
"He speaks English.”
a) fluent
b) fluently
c) fluenter




d) fluenting
Answer: b) fluently
. Which sentence is correct?
a) She drives careful.
b) She drives carefully.
c) She drives carefuly.
d) She drives most careful.
Answer: b) She drives carefully.
. Identify the incorrect usage of adjective/adverb:
a) She sings very good.
b) He performed extremely well.
c) The exam was surprisingly easy.
d) He is a highly skilled doctor.
Answer: a) She sings very good. (Correct: "She sings very well.")
. Choose the correct sentence:
a) | feel badly about the accident.
b) | feel bad about the accident.
c) | feel badlily about the accident.
d) | feel badness about the accident.
Answer: b) | feel bad about the accident.
. Which of the following sentences is incorrect?
a) She performed well in the test.
b) He runs fast.
c) This car is more cheaper than that one.
d) The food smells delicious.
Answer: ¢) This car is more cheaper than that one. (Correct: "This car is cheaper than
that one.")

1. What is the denotative meaning of the word ““snake”?

A) Evil or betrayal

B) A creature with no legs

C) Danger

D) Deception

Correct Answer: B) A creature with no legs

2. What is the connotative meaning of the word “home™?

A) A place where someone lives
B) A building with rooms
C) A feeling of safety and comfort




D) An address
Correct Answer: C) A feeling of safety and comfort

3. Which of the following shows denotation?

A) “Rose” as a symbol of love

B) “Rose” meaning a type of flower

C) “Rose” suggesting beauty

D) “Rose” used for romance

Correct Answer: B) “Rose” meaning a type of flower

4. Which sentence uses a word with a connotative meaning?

A) He walked into the house.

B) She’s such a snake.

C) I planted tulips in the yard.

D) We sat on the bench.

Correct Answer: B) She’s such a snake.

5. What type of reference is used in this sentence: “Sarah lost her bag. She was very
upset.”

A) Cataphoric

B) Denotative

C) Anaphoric

D) Connotative

Correct Answer: C) Anaphoric

6. Identify the cataphoric reference in this sentence: “Before he could explain, John
left the room.”

A) Explain

B) He

C) Room

D) John

Correct Answer: B) He




7. What is an anaphoric reference?

A) When a word refers to something later

B) When a word refers to something earlier

C) When a word has emotional meaning

D) When a word has literal meaning

Correct Answer: B) When a word refers to something earlier

8. What does a cataphoric reference do?

A) Refers back to something mentioned

B) Repeats the same noun

C) Refers forward to something coming

D) Gives emotional meaning

Correct Answer: C) Refers forward to something coming

9. What is the denotative meaning of the word “child”?

A) Innocent soul

B) Young human being

C) Sweet and playful person

D) Bundle of joy

Correct Answer: B) Young human being

10. Which of the following words has a positive connotation?

A) Pushy

B) Assertive

C) Bossy

D) Nosy

Correct Answer: B) Assertive

11. Which word has a negative connotation?

A) Economical
B) Frugal
C) Cheap




D) Thrifty
Correct Answer: C) Cheap

12. What kind of reference is used in: “If you need it, the book is on the table.”

A) Cataphoric

B) Anaphoric

C) Connotative

D) Denotative

Correct Answer: A) Cataphoric

13. In the sentence “Tom loves pizza. He eats it every Friday,” what does “it” refer
t0?

A) Tom

B) Loves

C) He

D) Pizza

Correct Answer: D) Pizza

14. In “The teacher entered. She looked angry,” what type of reference is “She”?

A) Cataphoric

B) Denotative

C) Anaphoric

D) Connotative

Correct Answer: C) Anaphoric

15. Which of these is an example of a connotative meaning of the word “lion”?

A) A large wild cat

B) A symbol of courage

C) A member of the cat family

D) A zoo animal

Correct Answer: B) A symbol of courage

USAGE OF PREPOSITIONS




1. He insisted __ attending the meeting despite being ill.

Options:

A) of

B) on

C)at

D) with

Correct Answer: B) on

2. The book was placed __ the shelf, not in it.

Options:

A) at

B) on

C)in

D) by

Correct Answer: B) on

3. She apologized _ being late to the event.

Options:

A) on

B) for

C)to

D) with

Correct Answer: B) for

4. The restaurant is located __ the corner of the street.

Options:

A)in

B) at

C)on

D) by

Correct Answer: B) at

5. He was accused ___ cheating during the exam.




Options:

A) of

B) for

C)in

D) with

Correct Answer: A) of

6. The children were playing ___ the rain, enjoying every moment.

Options:

A)in

B) on

C) at

D) by

Correct Answer: A) in

7. The movie starts 8 PM sharp.

Options:

A) on

B) at

C)in

D) by

Correct Answer: B) at

8. I have not heard ___ her since last week.

Options:

A) from

B) of

C) about

D) with

Correct Answer: A) from

9. The painting was hanging ___ the wall.

Options:
A) at




B) on
C)in
D) by
Correct Answer: B) on

10. She was leaning ___ the table to get a better view.

Options:

A)on

B) over

C) at

D) with

Correct Answer: B) over

11. Heran __ the street without looking both ways.

Options:

A) down

B) through

C) over

D) at

Correct Answer: A) down

12. | can't believe he came __ the meeting without being invited.

Options:

A) at

B) for

C)to

D) in

Correct Answer: C) to

13. She stayed ___ the room for an hour without saying a word.

Options:
A)in
B) at
C)on




D) into
Correct Answer: A) in

14. You should apologize __ your behavior earlier today.

Options:

A) for

B) to

C) with

D) about

Correct Answer: A) for

15. | received an invitation __ her wedding last week.

Options:

A) to

B) for

C) at

D) by

Correct Answer: A) to

16. We have to go ___the entire process again.

Options:

A) through

B) over

C) at

D) in

Correct Answer: A) through

17. She was born ___a small village near the mountains.

Options:

A)in

B) at

C) by

D) on

Correct Answer: A) in




18. They decided to stay ___ the hotel for the night.

Options:

A)in

B) at

C)on

D) by

Correct Answer: B) at

19. He is interested ___ learning new languages.

Options:

A)in

B) on

C) with

D) by

Correct Answer: A) in

20. The children were hiding ___ the tree during the game.

Options:

A)in

B) under

C) behind

D) at

Correct Answer: C) behind

21. The suitcase was placed ___ the bed to avoid blocking the door.

Options:

A) under

B) beside

C)on

D) by

Correct Answer: A) under




22. She is extremely good _ playing the violin.

Options:

A) at

B) in

C) with

D) on

Correct Answer: A) at

23. | have known him __ childhood.

Options:

A) from

B) since

C) for

D) during

Correct Answer: B) since

24. He’s been absent  Monday.

Options:

A) since

B) for

C) from

D) during

Correct Answer: A) since

25. We will leave _ the break of dawn.

Options:

A) at

B) on

C) by

D) for

Correct Answer: C) by

26. She was so excited ___ the good news.




Options:

A) about

B) of

C) for

D) with

Correct Answer: A) about

27. She is sitting ___ the corner of the room.

Options:

A)in

B) at

C)on

D) by

Correct Answer: B) IN

28. He handed over the keys ___ his assistant.

Options:

A) to

B) from

C) for

D) at

Correct Answer: A) to

29. | walked _ the street when | saw my old friend.

Options:

A) across

B) down

C) along

D) through

Correct Answer: A) across

30. They’ve been friends  they were in college.

Options:
A) since




B) for

C) from

D) during

Correct AnSWER :Since

1.Nafeesa is afraid spiders.

A) From
B) In
C) About
D) Of
Correct answer: D) Of
He is looking forward to ___his bro.
o A) See
o B) Seeing
o C) Saw

D) None of these
Correct answer: B) Seeing

. She is awaiting ___ result.
A) From
B) For
C) The
D) On

Correct answer: B) For

| have claimed __ you.
A) In
B) At
o C)On
o D) Over
Correct answer: A) In
He died __ fever.
o A)On
o B)Of
o C)For

D) From
Correct answer: B) Of




. I’m sure to profit ___ his lecture.
o A)From
B) At
C) By
D) On
Correct answer: A) From
Everyone run ___ the thief.
o A) After
B) With
C) For
D) On
Correct answer: A) After
He iswalking ___ road.
A) By
B) On
C) With
D) In
Correct answer: B) On
. Thechequeis___ Habib Bank.
A) At
B) Upon
C) Up
D) On
Correct answer: A) At
. The boy fell ___ the pond yesterday.

A) Into

B) In

C) From

D) Over

Correct answer: A) Into

.Samrais good ___ mathematics.

A) In

B) At

C) For

D) On

Correct answer: A) In

.Heisill fever.
A) Of

B) With
C)In




D) From
Correct answer: B) With

. There isno use ___ going there at this time.

A) At
B) In
C) On
D) Of
Correct answer: D) Of

. My room is infested ____insects.

A) In

B) On

C) From

D) With

Correct answer: D) With

. The planes flew in formation ___the fields.

A) On

B) Above

C) At

D) Over

Correct answer: D) Over

. Can you repair computer in Liam’s office? It’s not working.

A) A

B) An

C) The

D) None

Correct answer: C) The

. A black and white cow grazing in the field.

A) Is

B) Are

C) Were

D) None of these
Correct answer: A) Is

. The shopkeeper sells sweets made __ pure milk.

A) Of




B) By

C) With

D) From

Correct answer: A) Of

. This chair is made wood.

A) With

B) Of

C) From

D) By

Correct answer: B) Of

.Ican’teven think __ travelling __ public bus.

A) Of, by

B) By, the

C) With, of

D) Of, on

Correct answer: D) Of, on

. I am glad your success.

A) To

B) For

C) Of

D) With

Correct answer: B) For

. We suffered your neglect.

A) From

B) To

C) Of

D) These

Correct answer: A) From

. The river flows the bridge.

A) Under

B) Along

C) Off

D) With

Correct answer: A) Under

. She is working __ midnight.




A) Since

B) From

C) For

D) Of

Correct answer: A) Since

. Anam is the smartest ___ girls.

A) Among other

B) Of all

C) In others

D) From others

Correct answer: B) Of all

. She has been exempted __ night duty.

A) With

B) For

C) From

D) None of these

Correct answer: C) From

. You are blind your shortcomings.

A) In

B) On

C) Out

D) Of

Correct answer: D) Of

. You must adhere ____ your promise.

A) For

B) With

C)To

D) Of

Correct answer: C) To

. The whole nation was __ the President.

A) After

B) For

C) Farther

D) Behind

Correct answer: D) Behind




30. Fahad resigned from the job __ January.

A) In

B) On

C) At

D) None of these
Correct answer: B) On

He walked _ the street to reach the other side.
A) Over
B) Across
C) Towards
D) Beside
Correct answer: B) Across

. The plane flew __the city at a high altitude.

A) Across

B) Over

C) Towards

D) Up

Correct answer: B) Over

. She climbed ___ the mountain before sunset.

A) Towards

B) Across

C) Up

D) Over

Correct answer: C) Up

. Thechildran ___ his mother when he saw her.

A) Towards
B) Over
C) Across
D) Beside
Correct answer: A) Towards
He sat _ me in the classroom.
A) Besides
B) Beside
o C) Across
o D) Over
Correct answer: B) Beside

. There was no one there ___ the security guard.

A) Beside

B) Besides

C) Over

D) Towards

Correct answer: B) Besides




. This product is far ___ that one in quality.
o A)Over
o B) Superior to
o C) Across
o D) Towards
Correct answer: B) Superior to
| strongly __ hard work and honesty.
A) Believe in
B) Superior to
C) Across
D) Up
Correct answer: A) Believe in
Please write ___a blue pen.
o A) With
o B) In
o C)By
o D) Over
Correct answer: B) In
. She spread the cloth ___ the table.

A) Over

B) Across

C) Towards

D) Beside

Correct answer: A) Over

. He swam __the river to reach the shore.

A) Towards

B) Across

C) Over

D) Up

Correct answer: B) Across

. The bridge extends ___the river.

A) Across

B) Over

C) Up

D) Towards

Correct answer: B) Over

. She walked slowly __ the gate.

A) Towards
B) Over




C) Beside
D) Superior to
Correct answer: A) Towards

. The climber moved carefully __ the rocky slope.

A) Over

B) Up

C) Across

D) Towards

Correct answer: B) Up

. The lamp is placed ___the table.

A) Beside

B) Besides

C) Over

D) Across

Correct answer: A) Beside

. He is sitting ____ his brother and sister.

A) Beside

B) Besides

C) Across

D) Over

Correct answer: A) Beside

. His performance was far expectations.

A) Over

B) Across

C) Superior to

D) Towards

Correct answer: C) Superior to

. She doesn’t  ghosts or spirits.

A) Believe in

B) Over

C) Superior to

D) Across

Correct answer: A) Believe in

. The teacher asked the students to write their answers ____ink.




A) With

B) In

C) By

D) Over

Correct answer: B) In

. The ball rolled ___the street and hit the wall.

A) Across

B) Over

C) Towards

D) Beside

Correct answer: A) Across

MCQs on Articles Usage

1.

3.

4.

Identify the grammatically correct sentence:

(A) He sailed across a Atlantic Ocean last summer.
(B) He sailed across Atlantic Ocean last summer.
(C) He sailed across the Atlantic Ocean last summer.
(D) He sailed across an Atlantic Ocean last summer.

Correct Answer: (C) He sailed across the Atlantic Ocean last summer.

. Which of the following sentences correctly uses an article with a desert?

(A) The travelers got lost in a Sahara Desert during their expedition.
(B) The travelers got lost in Sahara Desert during their expedition.

(C) The travelers got lost in an Sahara Desert during their expedition.
(D) The travelers got lost in the Sahara Desert during their expedition.

Correct Answer: (D) The travelers got lost in the Sahara Desert during their
expedition.

Which article is necessary before ""Holy Quran™ in a sentence?
(A) A

(B) An

(C) The

(D) No article

Correct Answer: (C) The

Choose the correct sentence when referring to mountain ranges:
(A) She climbed a Himalayas last year.

(B) She climbed Himalayas last year.

(C) She climbed an Himalayas last year.

(D) She climbed the Himalayas last year.




Correct Answer: (D) She climbed the Himalayas last year.

. Which option correctly completes the sentence?
"Although she had visited many seas before, she was mesmerized by __ Caribbean
Sea."
(A) a
(B) an
(C) the
(D) No article

Correct Answer: (C) the

. Identify the grammatically correct use of articles with abstract nouns:
(A) A honesty is always the best policy.
(B) An honesty is always the best policy.
(C) The honesty is always the best policy.
(D) Honesty is always the best policy.

Correct Answer: (D) Honesty is always the best policy.

. Which of the following requires an article?
(A) The Andes Mountains
(B) A Andes Mountains
(C) An Andes Mountains
(D) Andes Mountains

Correct Answer: (A) The Andes Mountains

. Select the correct sentence when referring to provinces:
(A) The Punjab has a rich cultural history.
(B) Punjab has a rich cultural history.
(C) A Punjab has a rich cultural history.
(D) An Punjab has a rich cultural history.

Correct Answer: (A)The Punjab has a rich cultural history.

. Choose the correct sentence with a canal:
(A) The ship sailed through a Panama Canal.
(B) The ship sailed through an Panama Canal.
(C) The ship sailed through Panama Canal.
(D) The ship sailed through the Panama Canal.

Correct Answer: (D) The ship sailed through the Panama Canal.

10. Identify the correct superlative sentence:
(A) That was a most exciting match I have ever watched.




(B) That was the most exciting match | have ever watched.
(C) That was an most exciting match | have ever watched.
(D) That was most exciting match | have ever watched.

Correct Answer: (B) That was the most exciting match | have ever watched.

11. Select the correct use of articles for a city name:
(A) She moved to a Karachi last year.
(B) She moved to an Karachi last year.
(C) She moved to the Karachi last year.
(D) She moved to Karachi last year.

Correct Answer: (D) She moved to Karachi last year.

12. Which sentence correctly follows the rule for lakes?
(A) They spent their holiday at a Lake Superior.
(B) They spent their holiday at Lake Superior.
(C) They spent their holiday at an Lake Superior.
(D) They spent their holiday at the Lake Superior.

Correct Answer: (B) They spent their holiday at Lake Superior.

13. Which article should be used with the following phrase?

"He is ___ most talented singer of his generation."
(A) a

(B) an

(C) the

(D) No article

Correct Answer: (C) the

14. Choose the grammatically incorrect sentence:
(A) The Amazon Rainforest is the largest rainforest in the world.
(B) The Indus River is one of the longest rivers in Asia.
(C) An Pacific Ocean is the largest ocean on Earth.
(D) The Great Wall of China is a famous historical structure.

Correct Answer: (C) An Pacific Ocean is the largest ocean on Earth.

15. Which article is necessary in the sentence?
" Bibleis considered a sacred text by Christians worldwide."
(A) A
(B) An
(C) The
(D) No article




Correct Answer :(C)

MCQOs on the Usage of ""AN"" with MA, MBA, SLO & More

1.

She pursued __ MA in Linguistics from a prestigious university.
(A) a

(B) an

(C) the

(D) no article

Correct Answer: (B) an

He decided to enroll in __ MBA program at Harvard Business School.

(A)a

(B) an
(C) the
(D) no article

Correct Answer: (B) an

. After earning __ MA in History, she began her PhD research on ancient

civilizations.
(A) a

(B) an

(C) the

(D) no article

Correct Answer: (B) an

. She was recruited as ___ SLO officer to monitor student learning outcomes.

(A)a

(B) an

(C) the

(D) no article

Correct Answer: (B) an

. After completing ___ MBA, he joined a multinational corporation.
(A)a

(B) an

(C) the

(D) no article

Correct Answer: (B) an




. Hereceived __ MA in Political Science before joining the government sector.
(A) a

(B) an

(C) the

(D) no article

Correct Answer: (B) an

. She was appointed as ___ SLO expert to evaluate curriculum effectiveness.
(A) a

(B) an

(C) the

(D) no article

Correct Answer: (B) an

He was selected for __ MBA scholarship based on his exceptional leadership skills.
(A)a

(B) an

(C) the

(D) no article

Correct Answer: (B) an

. The university offered _ MA in Applied Linguistics focusing on bilingual
education.

(A) a

(B) an

(C) the

(D) no article

Correct Answer: (B) an

. She was assigned __ SLO project to improve assessment methodologies.
(A)a

(B) an

(C) the

(D) no article

Correct Answer: (B) an

. He decided to switch careers after earning ___ MBA in finance.
(A)a

(B) an

(C) the

(D) no article




Correct Answer: (B) an

. She was interested in pursuing __ MA in International Relations.
(A) a

(B) an

(C) the

(D) no article

Correct Answer: (B) an

. His dream was to study at Oxford and obtain __ MA in Philosophy.
(A) a

(B) an

(C) the

(D) no article

Correct Answer: (B) an

. The professor recommended __ SLO framework to enhance student learning.
(A)a

(B) an

(C) the

(D) no article

Correct Answer: (B) an

. The institute provides scholarships for students who wish to pursue _ MBA
abroad.

(A)a

(B) an

(C) the

(D) no article

Correct Answer: (B) an

USAGE OF CONDITIONAL SENTENCES :

. Had she left earlier, she wouldn’t have missed the train.

(A) First Conditional
(B) Second Conditional
(C) Third Conditional
(D) Zero Conditional
Correct Answer: (C) Third Conditional
. If water reaches 100°C, it boils.
(A) First Conditional
(B) Second Conditional




(C) Third Conditional

(D) Zero Conditional

Correct Answer: (D) Zero Conditional

If she worked harder, she would get better grades.
(A) First Conditional

(B) Second Conditional

(C) Third Conditional

(D) Zero Conditional

Correct Answer: (B) Second Conditional

. If I were you, I wouldn’t invest in that company.

(A) First Conditional

(B) Second Conditional

(C) Third Conditional

(D) Zero Conditional

Correct Answer: (B) Second Conditional

. If he had studied more, he might have passed the exam.
(A) First Conditional

(B) Second Conditional

(C) Third Conditional

(D) Zero Conditional

Correct Answer: (C) Third Conditional

. If she calls me, I will answer the phone.
(A) First Conditional

(B) Second Conditional

(C) Third Conditional

(D) Zero Conditional

Correct Answer: (A) First Conditional

. If I don’t drink coffee in the morning, I feel tired all day.

(A) First Conditional

(B) Second Conditional

(C) Third Conditional

(D) Zero Conditional

Correct Answer: (D) Zero Conditional

. If we had left on time, we wouldn’t have been late for the meeting.

(A) First Conditional

(B) Second Conditional

(C) Third Conditional

(D) Zero Conditional

Correct Answer: (C) Third Conditional

. If she apologizes, they will forgive her.
(A) First Conditional

(B) Second Conditional

(C) Third Conditional

(D) Zero Conditional

Correct Answer: (A) First Conditional




10. If I didn’t have a job, I would travel the world.
(A) First Conditional
(B) Second Conditional
(C) Third Conditional
(D) Zero Conditional
Correct Answer: (B) Second Conditional

Active and Passive Voice - MCQOs

. Choose the correct passive voice of the sentence:
"She writes a novel every year."
(A) A novel is written by her every year.
(B) A novel has been written by her every year.
(C) A novel was written by her every year.
(D) A novel is being written by her every year.
(Correct Answer: A)

. Select the correct active voice of:
"A new law was passed by the government last week."
(A) The government passes a new law last week.
(B) The government had passed a new law last week.
(C) The government passed a new law last week.
(D) The government was passing a new law last week.
(Correct Answer: C)

. Which sentence is in passive voice?
(A) They are watching a movie.
(B) A movie is being watched by them.
(C) They have watched a movie.
(D) They watch movies every day.
(Correct Answer: B)
Identify the tense and correct passive voice of:
"They will complete the project soon."
(A) The project is completed soon.
(B) The project will be completed soon.
(C) The project will have been completed soon.
(D) The project is being completed soon.
(Correct Answer: B)

. Select the correct passive voice of:
"The chef was preparing the meal.”
(A) The meal is prepared by the chef.
(B) The meal was being prepared by the chef.
(C) The meal had been prepared by the chef.
(D) The meal was prepared by the chef.
(Correct Answer: B)




Identify the active voice of:
"The road is being repaired by workers."
(A) Workers repair the road.
(B) Workers have repaired the road.
(C) Workers are repairing the road.
(D) Workers repaired the road.
(Correct Answer: C)

. Which option is NOT a correct passive form?
(A) The song was sung by the choir.
(B) The cake was being baked by the chef.
(C) The movie watched by the audience.
(D) The bridge had been built by engineers.
(Correct Answer: C)

. Select the passive voice of:
"The police caught the thief."
(A) The thief is caught by the police.
(B) The thief was caught by the police.
(C) The thief had been caught by the police.
(D) The thief has been caught by the police.
(Correct Answer: B)

. Which of the following is NOT in passive voice?
(A) The decision has been made.
(B) A new building was constructed.
(C) She is writing a letter.
(D) The mail is delivered daily.
(Correct Answer: C)

. Choose the correct passive form of:
"She had written the report before the meeting."
(A) The report had been written by her before the meeting.
(B) The report was written by her before the meeting.
(C) The report has been written by her before the meeting.
(D) The report is written by her before the meeting.
(Correct Answer: A)
11. Which tense is used in the sentence:
"The results will have been announced by next week."
(A) Future Perfect Passive
(B) Future Passive
(C) Present Passive
(D) Future Continuous Passive
(Correct Answer: A)
12. Active voice of:

"The test has been completed by the students."
(A) The students complete the test.
(B) The students completed the test.
(C) The students have completed the test.




(D) The students are completing the test.
(Correct Answer: C)

13. Select the correct passive voice of:
"They are delivering the parcels."”
(A) The parcels are delivered.
(B) The parcels are being delivered.
(C) The parcels have been delivered.
(D) The parcels were being delivered.
(Correct Answer: B)

14. Which of the following is in active voice?

(A) The keys were lost.
(B) The manager reviewed the files.
(C) The bill had been paid.
(D) The stadium was filled with fans.
(Correct Answer: B)
. Passive voice of:
"Does she complete the project on time?"
(A) Is the project completed by her on time?
(B) Has the project been completed by her?
(C) Was the project completed by her?
(D) Had the project been completed by her?
(Correct Answer: A)
. Passive voice of:
"She will be writing a novel next year."
(A) A novel will be written by her next year.
(B) A novel will have been written by her next year.
(C) A novel will be being written by her next year.
(D) A novel has been written by her next year.
(Correct Answer: C)

17. Which sentence is incorrectly transformed into passive?
(A) They are playing the piano — The piano is being played.
(B) He writes stories — Stories are written.

(C) She has finished her work — Her work is finished.
(D) The boy broke the window — The window was broken.
(Correct Answer: C)
. Choose the correct passive voice of:
"They should complete the assignment by tomorrow."
(A) The assignment must be completed by tomorrow.
(B) The assignment should be completed by tomorrow.
(C) The assignment will be completed by tomorrow.
(D) The assignment can be completed by tomorrow.
(Correct Answer: B)

19. Which of the following cannot be changed into passive voice?
(A) She writes poetry.

(B) He teaches mathematics.
(C) She sleeps early.




(D) They build houses.
(Correct Answer: C)

20. Passive voice of:
"Somebody has stolen my wallet!"
(A) My wallet was stolen!
(B) My wallet has been stolen!
(C) My wallet is stolen!
(D) My wallet had been stolen!
(Correct Answer: B)

USAGE OF TENSES :

1. Identify the tense of the sentence:

"She will have been reading for two hours by the time you arrive."”
(A) Future Perfect

(B) Past Perfect Continuous

(C) Future Perfect Continuous

(D) Present Perfect

Correct Answer: (C) Future Perfect Continuous

2. Choose the correct negative form of:

"They have completed the assignment."

(A) They had not completed the assignment.

(B) They have not completed the assignment.

(C) They does not completed the assignment.

(D) They hasn’t completed the assignment.

Correct Answer: (B) They have not completed the assignment.

3. Which sentence is in the Past Perfect Continuous tense?

(A) She was writing a letter when | called.

(B) She had been writing a letter for an hour before I called.

(C) She has written a letter.

(D) She will have written a letter.

Correct Answer: (B) She had been writing a letter for an hour before I called.




4. Select the correct interrogative form of:

"He had finished his homework before dinner."

(A) Had he finished his homework before dinner?

(B) Did he had finished his homework before dinner?

(C) Has he finished his homework before dinner?

(D) Had he finishes his homework before dinner?

Correct Answer: (A) Had he finished his homework before dinner?

5. Which of the following is in the Future Continuous tense?

(A) He will have completed his work by evening.

(B) He will be completing his work in the evening.

(C) He is completing his work now.

(D) He has completed his work.

Correct Answer: (B) He will be completing his work in the evening.

6. Choose the correct negative sentence:

"She goes to the gym every day."

(A) She do not goes to the gym every day.

(B) She does not go to the gym every day.

(C) She does not goes to the gym every day.

(D) She has not goes to the gym every day.

Correct Answer: (B) She does not go to the gym every day.

7. ldentify the correct interrogative sentence:

"They were watching TV."

(A) Were they watching TV?

(B) Did they watching TV?

(C) Was they watching TV?

(D) Are they watching TV?

Correct Answer: (A) Were they watching TV?

8. Which of the following sentences is incorrect?




(A) She has been working here since 2015.

(B) They will have left before we arrive.

(C) He didn’t went to school yesterday.

(D) Had she completed the project before the deadline?
Correct Answer: (C) He didn’t went to school yesterday.

9. Convert into Future Perfect tense:

"They finish their work before lunch."

(A) They will have finished their work before lunch.

(B) They had finished their work before lunch.

(C) They has finished their work before lunch.

(D) They were finishing their work before lunch.

Correct Answer: (A) They will have finished their work before lunch.

10. Choose the correct past simple negative form:

"She sang beautifully at the concert."

(A) She did not sang beautifully at the concert.

(B) She did not sing beautifully at the concert.

(C) She was not singing beautifully at the concert.

(D) She do not sing beautifully at the concert.

Correct Answer: (B) She did not sing beautifully at the concert.

11. Which sentence is in the Present Perfect Continuous tense?

(A) They have been studying for three hours.

(B) They will have studied for three hours.

(C) They had studied for three hours.

(D) They were studying for three hours.

Correct Answer: (A) They have been studying for three hours.

12. Convert into interrogative:

""She has been working since morning."
(A) Has she been working since morning?
(B) Is she been working since morning?
(C) Was she been working since morning?




(D) Did she been working since morning?
Correct Answer: (A) Has she been working since morning?

13. Identify the Future Simple sentence:

(A) They will complete the project soon.

(B) They completed the project.

(C) They were completing the project.

(D) They had completed the project.

Correct Answer: (A) They will complete the project soon.

14. Choose the correct negative form:

"He was playing football."

(A) He was not playing football.

(B) He did not was playing football.

(C) He were not playing football.

(D) He do not was playing football.

Correct Answer: (A) He was not playing football.

15. Select the correct interrogative sentence:

"She had been working for hours."

(A) Had she been working for hours?

(B) Has she been working for hours?

(C) Was she been working for hours?

(D) Does she been working for hours?

Correct Answer: (A) Had she been working for hours?

16. Which sentence is in the Past Simple tense?

(A) They went to the market yesterday.

(B) They had gone to the market.

(C) They have gone to the market.

(D) They are going to the market.

Correct Answer: (A) They went to the market yesterday.




17. Convert into interrogative:

"He will be traveling next week."

(A) Will he be traveling next week?

(B) Is he be traveling next week?

(C) Was he be traveling next week?

(D) Does he be traveling next week?

Correct Answer: (A) Will he be traveling next week?

18. Identify the incorrect sentence:

(A) He doesn’t like coffee.

(B) She didn’t completed her work.

(C) They have been studying for hours.

(D) Will she be coming to the party?

Correct Answer: (B) She didn’t completed her work.

19. Choose the correct negative form:

"She had submitted the report.”

(A) She hadn’t submitted the report.

(B) She hasn’t submitted the report.

(C) She didn’t submitted the report.

(D) She weren’t submitted the report.

Correct Answer: (A) She hadn’t submitted the report.

20. Which sentence is in the Future Perfect Continuous tense?

(A) He will have been waiting for two hours.

(B) He will wait for two hours.

(C) He is waiting for two hours.

(D) He had waited for two hours.

Correct Answer: (A) He will have been waiting for two hours.

21. Identify the Present Simple sentence:




(A) He plays the guitar.

(B) He has played the guitar.

(C) He is playing the guitar.

(D) He had played the guitar.

Correct Answer: (A) He plays the guitar.

USAGE OF PUNCTUATION MARKS :

1. Identify the correctly punctuated sentence.

(A) Despite the heavy rain; we continued our journey without hesitation.
(B) Despite the heavy rain, we continued our journey; without hesitation.
(C) Despite the heavy rain, we continued our journey without hesitation.
(D) Despite, the heavy rain we continued our journey without hesitation.
Correct Answer: (C) Despite the heavy rain, we continued our journey without hesitation.

2. Where should the full stop be placed in the following sentence?

"The professor asked the students to submit their assignments by Friday otherwise they would
not be graded"

(A) The professor asked the students to submit their assignments by Friday. Otherwise they
would not be graded.

(B) The professor asked the students to submit their assignments by Friday; otherwise, they
would not be graded.

(C) The professor asked the students to submit their assignments by Friday, otherwise they
would not be graded.

(D) The professor asked the students to submit their assignments by Friday otherwise, they
would not be graded.

Correct Answer: (B) The professor asked the students to submit their assignments by
Friday; otherwise, they would not be graded.

3. Choose the correctly punctuated version of the sentence.

"Although she was tired she continued working, determined to finish before midnight.”

(A) Although, she was tired, she continued working determined to finish before midnight.
(B) Although she was tired; she continued working, determined to finish before midnight.
(C) Although she was tired, she continued working, determined to finish before midnight.
(D) Although she was tired she continued working determined, to finish before midnight.




Correct Answer: (C) Although she was tired, she continued working, determined to finish
before midnight.

4. Which sentence correctly uses inverted commas?

(A) James said, "I can't believe it's already September™.

(B) James said "I can't believe it's already September."

(C) James said, "I can't believe it's already September."

(D) James said, I can't believe it's already September."

Correct Answer: (C) James said, "I can't believe it's already September."

5. Identify the correctly capitalized and punctuated sentence.

(A) the ambassador of France visited London last week; he met with the prime minister.

(B) The ambassador of France visited London last week; he met with the Prime Minister.

(C) The Ambassador of France visited London last week, he met with the Prime Minister.

(D) The ambassador of France visited london last week he met with the Prime Minister.
Correct Answer: (B) The ambassador of France visited London last week; he met with the
Prime Minister.

6. In which sentence is the semicolon used correctly?

(A) The meeting was scheduled for 10:00 AM; however, it started an hour later.

(B) The meeting was scheduled for 10:00 AM, however; it started an hour later.

(C) The meeting was scheduled for 10:00 AM; however it started an hour later.

(D) The meeting was scheduled; for 10:00 AM however, it started an hour later.

Correct Answer: (A) The meeting was scheduled for 10:00 AM; however, it started an hour
later.

7. Which sentence correctly places the comma?

(A) If you want to succeed, you must work hard and stay focused.
(B) If you want to succeed you must work hard, and stay focused.
(C) If, you want to succeed you must work hard and stay focused.
(D) If you want to succeed, you must, work hard and stay focused.
Correct Answer: (A) If you want to succeed, you must work hard and stay focused.




8. Identify the sentence that correctly uses an apostrophe.

(A) The teachers book was left on the table.

(B) The teacher's book was left on the table.

(C) The teachers' book was left on the table.

(D) The teachers books were left on the table.

Correct Answer: (B) The teacher's book was left on the table.

9. Where should the full stop be placed in the following sentence?

"He finished his speech the audience applauded enthusiastically™

(A) He finished his speech. The audience applauded enthusiastically.

(B) He finished his speech; the audience applauded enthusiastically.

(C) He finished his speech, the audience applauded enthusiastically.

(D) He finished his speech: the audience applauded enthusiastically.

Correct Answer: (B) He finished his speech; the audience applauded enthusiastically.

10. Which sentence correctly places the quotation marks?

(A) "She whispered, Don't worry, I'm here."

(B) "She whispered, "Don't worry, I'm here."

(C) She whispered, "Don't worry, I'm here."

(D) She whispered "Don't worry, I'm here".

Correct Answer: (C) She whispered, *"Don’t worry, I'm here."

USAGE OF GERUND ,PARTICIPLE AND INFINITIVES

1. Identify the gerund in the following sentence:

""Her constant complaining annoyed everyone in the office."
(A) Constant

(B) Complaining

(C) Annoyed

(D) Office

Correct Answer: (B) ComplaininG

2. In which sentence is the present participle used as an adjective?




(A) "The shining stars lit up the night sky."

(B) "I love shining my shoes every morning."

(C) "She was shining with happiness.”

(D) "He was shining his car in the garage."

Correct Answer: (A) ""The shining stars lit up the night sky."

3. ldentify the past participle adjective in the sentence:

""The broken window let in a chilly draft.”
(A) Window

(B) Broken

(C) Let

(D) Chilly

Correct Answer: (B) Broken

4. Which of the following sentences contains a noun phrase?

(A) "The small child with red shoes ran quickly."
(B) "She drives carefully."

(C) "The dog barked loudly."

(D) "He was extremely intelligent."

Correct Answer: (A) "The small child with red shoes ran quickly."

5. Identify the verb phrase in the following sentence:

""She has been studying for her exams all night."
(A) She has

(B) Has been studying

(C) Studying for

(D) All night

Correct Answer: (B) Has been studying

6. Choose the sentence that contains an adverb phrase:

(A) "She sang with great enthusiasm."
(B) "The old man sat on the bench."
(C) "The girl in the red dress waved."




(D) "They built a house near the river."
Correct Answer: (A) "'She sang with great enthusiasm."

7. Which of the following sentences contains an adjective phrase?

(A) "The house covered in vines looks haunted."

(B) "He runs extremely fast."

(C) "She sat on the old wooden chair."

(D) "They arrived in the afternoon."

Correct Answer: (A) ""The house covered in vines looks haunted.*

8. ldentify the prepositional phrase in the sentence:

""The book on the table belongs to me."
(A) The book

(B) On the table

(C) Belongs to

(D) To me

Correct Answer: (B) On the table

9. Which sentence contains a gerund phrase?

(A) "She enjoys reading historical novels.”

(B) "The dog is barking loudly."

(C) "I have never seen that movie."

(D) "The children played in the park."

Correct Answer: (A) ""She enjoys reading historical novels."

10. Choose the sentence that contains a past participle as an adjective:

(A) "The frozen lake was safe for skating."

(B) "They were frozen in fear."

(C) "He is frozen with shock."

(D) "The lake was freezing quickly."

Correct Answer: (A) "The frozen lake was safe for skating."




11. Identify the noun phrase in the sentence:

"The old man with a long beard told us a story."
(A) The old man

(B) With a long beard

(C) Told us

(D) A story

Correct Answer: (A) The old man

12. Which of the following contains an adverb phrase?

(A) "She spoke in a soft voice."

(B) "He is a good singer."

(C) "The movie was exciting."

(D) "He bought a beautiful painting."

Correct Answer: (A) ""She spoke in a soft voice.™

13. ldentify the verb phrase in the sentence:

"They will have completed the project by tomorrow."
(A) They will

(B) Have completed

(C) By tomorrow

(D) The project

Correct Answer: (B) Have completed

14. Choose the sentence with a gerund:

(A) "Swimming is an excellent exercise."

(B) "She is swimming in the pool."

(C) "The swimming pool is clean.”

(D) "He saw a swimming fish."

Correct Answer: (A) ""Swimming is an excellent exercise."

15. Identify the past participle phrase in the sentence:




"The book written by her became a bestseller."
(A) The book

(B) Written by her

(C) Became a bestseller

(D) By her

Correct Answer: (B) Written by her

16. Which sentence contains a noun phrase?

(A) "The delicious homemade cake was a treat."

(B) "He plays soccer every weekend."

(C) "We danced happily."

(D) "The sun was shining brightly."

Correct Answer: (A) ""The delicious homemade cake was a treat."

17. Which of the following is a verb phrase?

(A) "She should have been studying instead of watching TV."
(B) "The blue dress is beautiful."

(C) "They arrived late.”

(D) "A bird flew past the window."

Correct Answer: (A) "'She should have been studying instead of watching TV."

18. Choose the sentence with a prepositional phrase:

(A) "She walked through the dark forest."

(B) "He likes to swim."

(C) "They were very happy."

(D) "l ate an apple.”

Correct Answer: (A) ""She walked through the dark forest."

19. Which sentence contains an adverb phrase?

(A) "He spoke in a serious tone."

(B) "The cake was delicious."

(C) "She has a red handbag."

(D) "The room is tidy."

Correct Answer: (A) ""He spoke in a serious tone."




20. Identify the adjective phrase in the sentence:

""The girl with curly hair won the race."
(A) The girl

(B) With curly hair

(C) Won the race

(D) The girl won

Correct Answer: (B) With curly hair

LITERARY DEVICES

. "The silence was as deep as the ocean, swallowing every sound.""
(A) Simile
(B) Metaphor
(C) Imagery
(D) Personification
Answer: (A) Simile
. ""His words were daggers to my heart."
(A) Simile
(B) Metaphor
(C) Irony
(D) Assonance
Answer: (B) Metaphor
. ""The wind whispered through the trees, telling secrets only it could understand."
(A) Consonance
(B) Personification
(C) Paradox
(D) Metaphor
Answer: (B) Personification
. ""The fire crackled and roared like a wild beast.""
(A) Metaphor
(B) Simile
(C) Consonance
(D) Imagery
Answer: (B) Simile
. ""He was drowning in a sea of grief."”
(A) Irony
(B) Imagery
(C) Metaphor
(D) Simile
Answer: (C) Metaphor




. ""The stars winked at me from the night sky."
(A) Metaphor
(B) Personification
(C) Irony
(D) Assonance
Answer: (B) Personification
. ""Her laughter was a melody that danced in the air.""
(A) Simile
(B) Metaphor
(C) Imagery
(D) Paradox
Answer: (B) Metaphor
. ""The roaring river raced recklessly over the rocks."
(A) Imagery
(B) Alliteration
(C) Assonance
(D) Metaphor
Answer: (B) Alliteration
. ""The sun smiled down upon the fields, warming everything in sight."
(A) Personification
(B) Simile
(C) Consonance
(D) Imagery
Answer: (A) Personification
. ""She is as fierce as a storm in battle.”
(A) Metaphor
(B) Personification
(C) Simile
(D) Assonance
Answer: (C) Simile
. ""The darkness devoured every last flicker of hope."
(A) Personification
(B) Metaphor
(C) Imagery
(D) Paradox
Answer: (A) Personification
. ""War is peace. Freedom is slavery. Ignorance is strength."
(A) Irony
(B) Paradox
(C) Consonance
(D) Assonance
Answer: (B) Paradox
. ""His kindness was a well that never ran dry.""
(A) Simile
(B) Metaphor
(C) lrony




(D) Personification
Answer: (B) Metaphor
. "'She sells seashells by the seashore.
(A) Imagery
(B) Consonance
(C) Alliteration
(D) Assonance
Answer: (C) Alliteration
. ""A fire station burning down is quite unexpected.*
(A) Irony
(B) Paradox
(C) Metaphor
(D) Assonance
Answer: (A) Irony
. ""The old clock groaned as it struggled to strike midnight."
(A) Personification
(B) Metaphor
(C) Simile
(D) Imagery
Answer: (A) Personification
. "'She shivered in the silver moonlight, the night whispering secrets in her ear.
(A) Imagery
(B) Irony
(C) Assonance
(D) Consonance
Answer: (A) Imagery
. ""The choir of crickets created a crescendo in the cool night air."
(A) Assonance
(B) Consonance
(C) Alliteration
(D) Metaphor
Answer: (C) Alliteration
. ""He laughed, though his heart was breaking."
(A) Irony
(B) Paradox
(C) Imagery
(D) Simile
Answer: (A) Irony
. "The sun set in a blaze of gold, kissing the horizon farewell."
(A) Simile
(B) Metaphor
(C) Imagery
(D) Irony
Answer: (C) Imagery
21. ""A giant wave of silence crashed over the room."
(A) Irony




(B) Consonance
(C) Personification
(D) Assonance
Answer: (C) Personification
22. ""The only constant in life is change."
(A) Paradox
(B) Irony
(C) Metaphor
(D) Alliteration
Answer: (A) Paradox
23. ""The mellow bells of evening fell on my ears like a soothing lullaby.*
(A) Imagery
(B) Simile
(C) Alliteration
(D) Paradox
Answer: (B) Simile
24. "'l heard the swish of silk skirts sweeping across the stone floor."
(A) Assonance
(B) Consonance
(C) lrony
(D) Metaphor
Answer: (B) Consonance
25. ""The night sighed as the wind whispered through the empty streets."
(A) Personification
(B) Metaphor
(C) Imagery
(D) Irony
Answer: (A) Personification

1. When converting a statement from direct to indirect speech, which of the
following is correct?

A) He said, "I am going to the market." — He said that he is going to the market.
B) He said, "I am going to the market." — He said that he was going to the market.
C) He said, "I am going to the market." — He said that he will go to the market.

D) He said, "I am going to the market." — He said that he had gone to the market.
Correct Answer: B) He said that he was going to the market.

2. Which of the following is the correct indirect speech form for the question:
""Where is she going?"*




A) She asked where she is going.

B) She asked where she was going.

C) She asked where she goes.

D) She asked where she will be going.

Correct Answer: B) She asked where she was going.

3. If the reporting verb is in the past tense, what happens to the present
continuous tense in indirect speech?

A) It stays the same.

B) It changes to past continuous.

C) It changes to present simple.

D) It changes to future continuous.

Correct Answer: B) It changes to past continuous.

4. Choose the correct indirect speech conversion of: "'l have never seen such a
movie,"" she said.

A) She said that she had never seen such a movie.

B) She said that she never saw such a movie.

C) She said that she has never seen such a movie.

D) She said that she had never seen such movies.

Correct Answer: A) She said that she had never seen such a movie.

5. Which of the following is the correct indirect speech conversion of: *"What
time does the train leave?"

A) He asked what time the train leaves.

B) He asked what time the train left.

C) He asked what time the train is leaving.

D) He asked what time the train will leave.

Correct Answer: B) He asked what time the train left.

6. When converting direct speech to indirect speech, the modal verb "will*" is
generally changed to:




A) Can

B) Would

C) Should

D) May

Correct Answer: B) Would

7. Convert this sentence into indirect speech: *She said, 'l will visit the
museum tomorrow."*

A) She said she will visit the museum tomorrow.

B) She said she would visit the museum tomorrow.

C) She said she visits the museum tomorrow.

D) She said she will have visited the museum tomorrow.

Correct Answer: B) She said she would visit the museum tomorrow.

8. Which of the following is correct in indirect speech: ""He asked, ‘Do you
know the way?""'

A) He asked if | knew the way.

B) He asked if I know the way.

C) He asked if | had known the way.

D) He asked did | know the way.

Correct Answer: A) He asked if | knew the way.

9. Choose the correct indirect speech form: "I am not interested in this offer,"
he said.

A) He said that he wasn’t interested in that offer.

B) He said that he isn’t interested in that offer.

C) He said that he had not interested in that offer.

D) He said that he hadn’t been interested in this offer.

Correct Answer: A) He said that he wasn’t interested in that offer.

10. Which sentence follows the rule of tense change in indirect speech?

A) He said he will call me tomorrow.
B) He said he had called me tomorrow.




C) He said he called me tomorrow.
D) He said he would call me tomorrow.
Correct Answer: D) He said he would call me tomorrow.

11. Choose the correct indirect speech conversion of: "'Do you like reading
books?"*

A) He asked if I liked reading books.

B) He asked whether | have liked reading books.

C) He asked if I am liking reading books.

D) He asked if I liked read books.

Correct Answer: A) He asked if I liked reading books.

12. When converting from direct to indirect speech, which of the following
pronouns usually change?

A) Only the subject pronouns.

B) Only the object pronouns.

C) Both subject and object pronouns.

D) No pronouns change.

Correct Answer: C) Both subject and object pronouns.

13. Which sentence correctly uses the past perfect in indirect speech?

A) He said that he has finished his homework.

B) He said that he had finished his homework.

C) He said that he finishes his homework.

D) He said that he finished his homework.

Correct Answer: B) He said that he had finished his homework.

14. What is the correct conversion of: *'She said, "I am studying English
now.'"*

A) She said that she is studying English now.
B) She said that she was studying English now.
C) She said that she was studying English then.




D) She said that she studies English then.
Correct Answer: C) She said that she was studying English then.

15. Which of the following is the correct indirect speech conversion of: "I
have been working here for three years," she said.

A) She said that she had been working there for three years.

B) She said that she had worked there for three years.

C) She said that she has been working here for three years.

D) She said that she was working there for three years.

Correct Answer: A) She said that she had been working there for three years.

26.16. In indirect speech, which tense is used to report a universal truth?

A) Present simple

B) Past simple

C) Future simple

D) Past perfect

Correct Answer: A) Present simple

17. Which of the following sentences correctly uses the word "'that™ in
indirect speech?

A) She said she that will come.

B) She said that she would come.

C) She said that she will come.

D) She said she will coming.

Correct Answer: B) She said that she would come.

18. When converting a sentence in direct speech like ""He said, 'I don’t
understand this topic,'"" which tense will the verb "don’t" change to?

A) Present continuous

B) Past continuous

C) Past simple

D) Past perfect

Correct Answer: C) Past simple




19. Which of the following is correct in indirect speech: ""Will you be
attending the meeting?**

A) He asked if I will be attending the meeting.

B) He asked whether I would be attending the meeting.

C) He asked whether | am attending the meeting.

D) He asked if | had been attending the meeting.

Correct Answer: B) He asked whether | would be attending the meeting.

20. Which sentence follows the rule for reported speech when there is no
change in the tense for statements of general truth?

A) She said that the sun rises in the east.

B) She said that the sun rose in the east.

C) She said that the sun will rise in the east.

D) She said that the sun had risen in the east.

Correct Answer: A) She said that the sun rises in the east.

MOST IMP MCQOS

1. Identify the sentence having a noun phrase:

A) The fighters walked bravely.

B) The magistrate was a man with a kind heart.

C) Spring time is the most beautiful in Peshawar.
D) The new books are placed next to the dispenser.

Answer: D) The new books are placed next to the dispenser.

2. The early history of people or explaining some natural or social phenomena is called:
A) Poetry

B) Myth




C) Fiction
D) Legend

Answer: D) Legend

3. Recognize the use of personification in one of the following sentences:
A) The snake slithers on the sand.

B) The daffodils danced.

C) The duck is swimming well.

D) Betty botter bought a bit of butter.

Answer: B) The daffodils danced.

4. The people want to elect leaders WHO MAKE THE COUNTRY DEVELOPED. The
underlined part of the sentence is:

A) Adjective phrase
B) Adjective clause
C) Noun clause

D) Adverb phrase

Answer: B) Adjective clause

5. Islam gives the lesson of PEACE and tranquility. The underlined word is:

A) Collective noun
B) Countable noun
C) Uncountable noun

D) Abstract noun




Answer: D) Abstract noun

6. Lyric is an example of:
A) Poetry

B) Drama

C) Fiction

D) Novel

Answer: A) Poetry

7. ldentify the sentence containing past perfect tense:
A) Please try to be more careful.

B) We were preparing to move our house.

C) The session had started when she entered the hall.
D) My sister sobbed when she came home.

Answer: C) The session had started when she entered the hall.

8. Time is money, we must have fast and efficient means of transport. Time is money' means:

A) Time is valuable

B) Time is cheap
C) Time is easily available
D) Spend money wisely

Answer: A) Time is valuable




9. We went for a two week trip on an ocean liner.
A) Incredible, brand-new, huge, Italian
B) Incredible, huge, brand-new, Italian
C) Italian, incredible, huge, brand-new
D) Huge, brand-new, Italian, incredible

Answer: B) Incredible, huge, brand-new, Italian

10. Which of the following sentences contains an infinitive?
A) I had a planning for going

B) I wanted to go

C) I was going

D) I will go

Answer: B) | wanted to go

11. I will go to watch television, but first, | have to clean up the dishes after we finish eating.
Identify the type of sentence.

A) Compound sentence

B) Complex sentence

C) Compound-complex sentence
D) Simple sentence

Answer: C) Compound-complex sentence

12. Which of the following options gives the synonym of the word 'foe'?

A) Friend




B) Enemy
C) Fellow
D) Pal

Answer: B) Enemy

13. Do not listen to he says. Choose the correct relative pronoun.
A) That

B) Who

C) What

D) Whom

Answer: C) What

14. When | asked him the keys Bilal said he had no idea where they were?
A) If he had seen

B) If did he see

C) Could he see

D) That he had seen

Answer: D) That he had seen

15. They said to us, "Let us go for a walk". Choose the correct indirect speech.

A) They said to us for going for a walk
B) They asked us for going for a walk

C) They propose to go for a walk




D) They proposed to us to go for a walk
Answer: D) They proposed to us to go for a walk
: 1. The antonym of ‘consume’ is:

A) Save

B) Utilize

C) Use

D) Spend

Answer: A) Save

2. Father is to mother as uncle is to:
A) Nephew

B) Aunty

C) Niece

D) Brother

Answer: B) Aunty

3. All the soldiers had to take their masks with them there was a gas attack.Choose
suitable transitional device :

A) Because of
B) So that

C) In case

D) Nevertheless

Answer: C) In case




4. The most VULNERABLE will be population in developing country. Infer the closest
meaning of underlined word.

A) Secure

B) Weak

C) Resilient
D) Flourishing

Answer: B) Weak

5. "She sells seashells by the seashore”. The sentence contains:
A) Ellipsis

B) Imagery

C) Personification

D) Alliteration

Answer: D) Alliteration

6. He had all the money in the world;---- he was sad. Choose a suitable option to fill in the
blank.

A) Yet
B) So
C) Although

D) Therefore

Answer: C) Although

7. The leader was as wise as an owl. The sentence confines:




A) Metaphor

B) Personification
C) Symbolism

D) Simile

Answer: D) Simile

8. 1 did not go to the meeting. Which type of sentence is this?
A) Simple

B) Compound

C) Complex

D) Interrogative

Answer: A) Simple

of birds were flying in the sky.
A) Gang
B) Flock
C) Herd
D) Choir

Answer: B) Flock

10. He was so helpful. He helped nearly in the village.

A) Anybody

B) Nobody




C) Everybody
D) Somebody

Answer: C) Everybody

11. He works CAREFULLY. The underlined part of sentence is:
A) Adjective

B) Noun

C) Verb

D) Adverb

Answer: D) Adverb

12. Choose the sentence with an adjective clause in it:
A) The explanation he gave was fine.

B) As soon as | saw the cobra | ran away.

C) No one knows who he is.

D) If it starts to rain, we will have to go inside.

Answer: C) No one knows who he is.

13. Choose the word with correct spellings.

A) Concet

B) Connceit
C) Concete

D) Conceit




Answer: D) Conceit

14. The synonym of 'solace’ is:
A) Frustration

B) Comfort

C) Hunt

D) Distress

Answer: B) Comfort

15. The comforts of books ----time and break borders. Infer suitable word from the following
options :

A) Follow

B) Surrender

C) Obey

D) Give

Answer: A) Follow

: 1. Which one of the following sentences possesses an adverb?
A) The lion ate meat.

B) The horse ran briskly.

C) The goats are white.

D) The cat meowed.

Answer: B) The horse ran briskly.

2. They came to a path covered with mud. The underlined part is:




A) Adjective Phrase
B) Noun Phrase

C) Adverb Phrase
D) Adverb Clause

Answer: A) Adjective Phrase

3. Choose the word with correct spelling to fill in the blank.
A) Conseince

B) Consienice

C) Conscience

D) Consecence

Answer: C) Conscience

4. At the end of each scenario, they must identify the culprit. The best synonym for the
underlined word is:

A) Innocent

B) Offender
C) Honest
D) Hero

Answer: B) Offender

5. "Maintaining a sound and productive environment all over is Choose the suitable word. for
progress.

A) Needless




B) Necessary
C) Unnecessary
D) Wastage

Answer: B) Necessary

6. I'd ask my parents for a loan. If I couldn't it on my own. Choose the suitable option to fill
in the blank.

A) Afford
B) Spend

C) Expend
D) Calculate

Answer: A) Afford

7. 1 would have been glad if he me in hospital. Choose the suitable option to fill in the blank.

A) Will visit

B) Had been visited
C) Had visited
D) Visit

Answer: C) Had visited

8. He owed his success to his father. It is a sentence.
A) Compound
B) Complex

C) Simple




D) Compound Complex

Answer: C) Simple

9. I am inclined agree. Fill in the blank with suitable preposition.
A) For

B) In

C) At

D) To

Answer: D) To

10. The lily is sweet flower. Choose correct article (if needed).
A) The

B) A

C) No article needed

Answer: B) A

11. If they are busy people, they, the news.

A) miss
B) Will
C) Had
D) Would be

Answer: A) miss




12. "It is cold like ice', Which poetic device is used in the sentence?
A) Simile

B) Metaphor

C) Symbolism

D) Alliteration

Answer: A) Simile

13. 'Honey is to bee' as 'silk is to
A) Snake

B) Ant

C) Cloth

D) Worm

Answer: D) Worm

14. "They invited us to their home. What tense is it?

A) Past Indefinite

B) Future Perfect
C) Past Continuous
D) Future Indefinite

Answer: A) Past Indefinite

15. A of cattle was grazing.

A) Gang




B) Flock
C) Team
D) Herd
Answer: D) Herd

word to the wise is sufficient. The correct option is:

B) An
C) The
D) No article is required

Answer: D) No article is required

2. Owning two cars is a LUXURY in most countries. Which type of pronoun is the

underlined?
A) Concrete
B) Abstract
C) Proper

D) Collective

Answer: B) Abstract

3. When | saw him, he ---- chess. Choose the correct form of verb
A) Is playing

B) Was playing

C) Were playing

D) Play




Answer: B) Was playing

4. The FOOLISH crow tried to sing. The underlined word is:
A) Noun

B) Verb

C) Adjective

D) Adverb

Answer: C) Adjective

5. The ship---- rapidly. Choose the correct verb to complete sentence.
A) Sinking

B) Sank

C) Sunk

D) Sinked

Answer: B) Sank

6. He works CAREFULLY. The underlined word is an adverb of:
A) Manner

B) Quantity

C) Degree

D) Frequency

Answer: A) Manner




7. Salman enjoys playing cricket. The sentence is an example of
A) Assertive sentence

B) Interrogative sentence

C) Exclamatory sentence

D) Imperative sentence

Answer: A) Assertive sentence

8. I am doing it now. This sentence is an example of--- sentence.
A) Simple

B) Compound

C) Complex

D) Compound complex

Answer: A) Simple

9. Which of the following sentences has an adjective?
A) She is an excellent player

B) I shall definitely play

C) She is here

D) She walks too slowly

Answer: A) She is an excellent player

10. The cat jumped the chair. Choose the correct preposition to complete sentence.

A) About




B) Off
C) Beneath
D) Through

Answer: D) Through

11. I had written the letter. Which tense is used in the given sentence?
A) Simple past

B) Past progressive

C) Past perfect

D) Past perfect continuous

Answer: C) Past perfect

12. Our friend ate SOME rice. The underlined is adjective of:

A) Quality

B) Quantity
C) Manner
D) Demonstration

Answer: B) Quantity

13. Our friend ----to writing us before he left the city. Choose the correct option to complete
the sentence.

A) writing to us before he
B) Is

C) Will be




D) Had been

Answer: D) Had been

14.'Cat' is to 'kitten' as 'lioness' is to:
A) Lion

B) Puppy

C) Cub

D) Baby

Answer: C) Cub

15. He says, "I am unwell". Choose the correct indirect speech.
A) He said that I am unwell

B) He said that he is unwell

C) He says that he is unwell

D) He says that he was unwell

Answer: C) He says that he is unwell

: 1. Faraz is a giant in his class, towering a foot over his classmates. The sentence means:

A) Faraz is short

B) Faraz is tiny
C) Faraz is heavy
D) Faraz is tall

Answer: D) Faraz is tall




2. Clock is to time as ruler is to:
A) Mile

B) Length

C) Angle

D) Space

Answer: B) Length

3. The child is gaining MATURITY. The underlined word is:
A) Abstract noun

B) Concrete noun

C) Proper noun

D) Collective noun

Answer: A) Abstract noun

4.1 met him at mosque correct the article to complete the sentence :

A) A

B) An

C) The

D) No article required

Answer: C) The

up every day at five o'clock




B) Gets
C) Getting
D) Got

Answer: A) Get

6. The young boy ----the car rashly yesterday. Choose the correct form of verb to complete
the sentence.

A) Driving
B) Drove
C) Driven
D) Drived

Answer: B) Drove

7. There is LITTLE time for preparation. The underlined word is:

A) Verb

B) Adverb
C) Adjective
D) Noun

Answer: C) Adjective

8. The earth revolves around the sun. The sentence is an example of
A) Simple sentence
B) Compound sentence

C) Complex sentence




D) Compound complex sentence

Answer: A) Simple sentence

9. ALAS! She is dead. Which kind of sentence is this?
A) Declarative

B) Interrogative

C) Exclamatory

D) Imperative

Answer: C) Exclamatory

10. 'She seldom asks me to help her. Which type of adverb is used in the given sentence?
A) Manner

B) Frequency

C) Degree

D) Time

Answer: B) Frequency

11. The cat jumped---- the chair. Choose the correct preposition to complete the sentence.

A) About
B) Through
C) Beneath
D) Off

Answer: B) Through




12. She studying in England before she came to Pakistan. Choose the correct form of
verb to complete the sentence.

A) lIs

B) Will be
C) Have

D) Had been

Answer: D) Had been

13. She had done the exercise. Which tense has been used in the given sentence?
A) Present Perfect

B) Past Perfect

C) Simple Past

D) Past Perfect Continuous

Answer: B) Past Perfect

14. After the trip, | feel, I am the ---- boy on earth
A) Lucky

B) Luckiest

C) Luckier

D) More lucky

Answer: C) Luckier

15. The birds chirp BEAUTIFULLY. The underlined is an adverb of:




A) Place

B) Time

C) Manner

D) Frequency

Answer: C) Manner

1. Libraries are an evidence of GRANDEUR of civilization. The underlined word means:
A) Joy

B) Glory

C) Demise

D) History

Answer: B) Glory

2. Their leader was as wise as an owl. The simile 'wise as an owl" means:

A) The leader thought he could fly.

B) The leader could talk to the owl.
C) The leader knew a lot of things.
D) The leader was as quiet as an owl.

Answer: C) The leader knew a lot of things.

3. Complete the sentence with appropriate form of the verb. They are afraid of (swim)
the sea.

A) Swam
B) Swimming

C) Had swam




D) Had been swimming

Answer: B) Swimming

4. The accident was due to his CARELESSNESS The underlined word is:
A) Abstract noun

B) Concrete noun

C) Collective noun

D) Common noun

Answer: A) Abstract noun

5. Choose the appropriate past participle. The herbal treatment makes me feel so:
A) Had relaxing

B) Had been relaxing

C) Relaxed

D) Have relaxed

Answer: C) Relaxed

6. The underlined word is an adverb of: The speaker looks angry . He is banging the table
ANGRILY.

A) Manner

B) Place
C) Time
D) Frequency

Answer: A) Manner




7. 1 knew exactly where, | put my wallet , I still could not find it.
A) Although

B) Or

C) But

D) As

Answer: C) But

8. The patient had stood up before the doctor arrived. What tense is it?
A) Past indefinite

B) Past perfect

C) Present perfect

D) Past perfect continuous

Answer: B) Past perfect

9. Have you got anything these poor women could take for their children? The correct
relative pronoun is:

A) Which
B) Who
C) Whom
D) What

Answer: D) What

10. Will someone be here soon to OPEN THR DOOR? The underlined part of sentence is:




A) Prepositional phrase
B) Adjective phrase
C) Infinitive phrase
D) Participle phrase

Answer: C) Infinitive phrase

11. If we go on holiday this summer, we shall go to ziarat. Identify the type of conditional.
A) Type 1 Conditional

B) Conditional type Il

C) Conditional type IlI

D) Zero Conditional

Answer: A) Type 1 Conditional

12. The ghost appeared WITHIN NO TIME . The underlined part of sentence is:

A) Noun phrase

B) Adjective phrase
C) Adverb phrase
D) Adjective clause

Answer: C) Adverb phrase

13. The cuckoo SINGS. The underlined word is:
A) Transitive verb

B) Intransitive verb




C) Linking verb
D) Infinitive

Answer: B) Intransitive verb

14.THIS boy is stronger than Haris. The underlined word is:
A) Distributive adjective

B) Demonstrative adjective

C) Numeral adjective

D) Qualitative adjective

Answer: D) Qualitative adjective

15. How poisonous these snakes are! Identify the type of sentence.

A) Imperative sentence

B) Exclamatory sentence

C) Positive sentence

D) Interrogative sentence

Answer: B) Exclamatory sentence

1. His COURAGE won him honour. The underlined word is:
A) Concrete noun

B) Abstract noun

C) Collective noun

D) Proper noun

Answer: B) Abstract noun




2. The child's eyes SPARKLED with joy and she giggled. The underlined word means:
A) Closed

B) Opened

C) Shine bright

D) Dull and down

Answer: C) Shine bright

3. Yesterday, European called at my office. Choose correct article.
A) A

B) An

C) The

D) No article needed

Answer: B) An

4. Which sentence contains an adverb?
A) Our team is better than theirs.

B) Our team played better than theirs.
C) Our team won the match.

D) Our team played in the tournament.

Answer: B) Our team played better than theirs.

5. "Horse is to stable' as "bee is to




A) Pond
B) Kennel
C) Den
D) Hive

Answer: D) Hive

6. Choose the correct spelling.
A) Intersede

B) Entercede

C) Enterceede

D) Intercede

Answer: D) Intercede

7. MAY | come in? Underlined word is:

A) Modal verb

B) Auxiliary verb
C) Transitive verb
D) Intransitive verb

Answer: A) Modal verb

8. Surely, you recognize SOMEBODY. The underlined word is:
A) Reflexive pronoun

B) Relative pronoun




C) Indefinite pronoun
D) Demonstrative pronoun

Answer: C) Indefinite pronoun

9. The synonym of word 'Solace' is:
A) Aggravation

B) Frustration

C) Symptom

D) Comfort

Answer: D) Comfort

10. Identify the use of simile:

A) The striker was a goal machine.
B) He hopped to high hall.

C) Itis cold like ice.

D) You are an open book.

Answer: C) It is cold like ice.

11. We saw animals in the zoo.Select more positive connotative adjective to complete the
sentence:

A) Fascinating
B) Weird
C) Creepy

D) Strange




Answer: A) Fascinating

12. Identify the simple sentence.

A) If you look hard enough, you will find the spot
B) She was smart, hence she won

C) He is too lazy to succeed

D) I like tea but they preferred coffee

Answer: C) He is too lazy to succeed

13. Her birthday is the 6th of June. Choose correct preposition.
A) At
B) On
C) For

D) In

Answer: B) On

14. They had been playing for six hours. Identify the correct tense.
A) Past perfect continuous

B) Simple present

C) Present perfect continuous

D) Past perfect

Answer: A) Past perfect continuous




15. Jamila jogged on the jogging track. Identify the literary device.

A) Personification

B) Simile

C) Metaphor

D) Alliteration

Answer: D) Alliteration

1. I have found the pen WHICH 1 had lost. The underlined word is:
A) Relative pronoun

B) Indefinite pronoun

C) Demonstrative pronoun

D) Reflexive pronoun

Answer: A) Relative pronoun

2. Can he win the match? The word 'can’ in the given sentence is:
A) Intransitive verb

B) Modal verb

C) Transitive verb

D) Helping verb

Answer: B) Modal verb

3. Which sentence contains an adverb?
A) She was dressed all in pink

B) Her dress was pink




C) She likes her pink dress
D) Her pink dress was beautiful

Answer: A) She was dressed all in pink

4. He goes the library to borrow and return the books. Insert correct preposition.

A) Across
B) Down
C) From
D) To

Answer: D) To

5. 'Fish is to school' as 'Bird is to
A) Flock

B) Herd

C) Stable

D) Farm

Answer: A) Flock

6. I shall do it now I shall not do it at all. The suitable transitional device is.
A) And

B) But

C) Or

D) Yet




Answer: B) But

7. Whenever it rains, | like to wear my jacket. Identify the complex sentence.
A) She won a scholarship in the school

B) He is too lazy to succeed

C) The athlete ran like the wind.

D) Whenever it rains, | like to wear my jacket

Answer: D) Whenever it rains, | like to wear my jacket

8. If you hard, you would have got a first class. Use correct form of verb.
A) Studied

B) Had studied

C) Have studied

D) Studying

Answer: B) Had studied

9. The synonym of current is:

A) Up-to-date

B) Early
C) Dated
D) Old

Answer: A) Up-to-date




10. He acted as if he had owned that car. Which type of adverb clause is it?
A) Adverb clause of time

B) Adverb clause of reason

C) Adverb clause of place

D) Adverb clause of manner

Answer: D) Adverb clause of manner

11. Identify the use of personification:
A) The daffodils danced in the wind
B) She ran like a hare

C) He works day and night

D) It is very hot today

Answer: A) The daffodils danced in the wind

12. His car was old but yet very Select more positive connotative adjective to complete
the sentence.

A) Fascinating
B) Awkward
C) Creepy

D) Weird

Answer: A) Fascinating

13. He returned after hour. Choose the correct article.

A) A




B) An
C) The
D) No need of article

Answer: B) An

14. At that time, he had been writing a novel for two hours. Identify the tense.
A) Present perfect continuous

B) Past perfect continuous

C) Future perfect continuous

D) Past perfect

Answer: B) Past perfect continuous

15. The athlete ran like the wind .Which poetic device is used :
A) Personification

B) Simile

C) Metaphor

D) Alliteration




